For the circuit, we want to find v(¢) for all 0- <z < oo
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At ¢t =0 we have:
v(0) =10
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So, at = 0" we have

V(0N =10

+

2Q % v(0")=2.5 %69

So, for 0°<t <1- we have: (1) =v(0)+[v(0") —v(w) ]e " = 2.5¢

and
v () =v,(0) +[1,(0)=v () Je " =10 2= (4)*(1/8)=0.5

W(1)=0.92 [V] and. ve(1") =3.68 [V]



At ¢t = 17 the circuit looks like:
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=1.8¢ 2 for t>1, where 12 = (4)*(1/8) = 0.5

So, V(1) =v(o0)+ [v(l+) — v(oo)} e
(Notice here that a shifted exponential function is being used here since the switching time isn’t 0)

So, v(t) is:




